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For each question from 1 to 30, four options are given. One of them is the corréct
answer. Make your choice (1, 2, 3 or 4). Shade the correct ovat on the Optical
Answer Sheet (OAS). {60 marks]

1. Look at the diagram below.

The arrows are offhave different (8) __ but have the same (b) )

(a) {b)
(1) sizes colour
(2) shapes size
(3) number of sides size
{(4) colours number of sides
2. Jody saw 2 mimosa blant and touched the mimosa leaves with her fingers. To

her surprise, the leaves did not close at all. What could be the reason?

s

The mimosa plant was

(1) germinating

(2) making food

(3) made of plastic

(4} slow in responding to changes

(Go on to the next page)
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3. The classification table below shows how some things are classified.
Things
[

| |

A B

[ |
Bear Wood
Goldfish Brush
Seahorse ' Paper

Mosquito Waterfall
Dragon Scales Cotton wool

)

Which of the following represents the sub-headings, A and B, correctly?

M
(2)
3
(4)

Animal Z is most likely to be a

M
(2)
(3)
{4)

A B
Animais Plants
Plants Animais
Living things Non-living things
Non-living things Living things

bat
toad
rabbit
penguin

Study the following description of animal Z.

it has hair.
It eats plants.

It hops on'its hind legs.
It burrows underground.

(Go on to the next page)



5.

-

The flow chart below shows how some living things, S, T, U and V, have been
classified.

Plants
. No - . , No
Does it live on land? Does it bear fruits?
Yes

r Does it have flowers? No @

Yes l
No

Do the flowers grow jn a bunch? U

Yes

Which one of the following best represents the Ixora?

(1 s
@ 7T
) U
4 Vv

Which of the following statements about bacteria is/are false?

A Bacteria can reproduce -

B All bacteria are harmful.

C: Bacteria need food to survive.

D Bacteria can be found everywhere.

(1)  Aonly
(2}  Bonly
(3)  AandConly
(49  BandDonly

(Go on to the next page)
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The diagram below shows two organisms.

Mushroom

in what ways are the mushroom and the mould similar?

They can reproduce.

They can cause decay.

They cannot make their own food.

They can only be seen through a microscope.

0owex

(1) A,BandC only
(22 A, CandDonly
(3) B, CandD only
4 ABCandD

(Go on to the next page)



8. . . Study the classification chart below carefully,

Animals

|

Lay eggs

|

|

Have hair

Does not have hair

Give birth

Have qills ’ LHave lungs I

|

L

A C D ‘
What animals can A, B, Cand D be?
A B C D
(1} Horse Swordtail Turtle Platypus
(2) Swordtail . Turtle Horse Platypus
(3) | Platypus Swordtail Horse Turtle
(4) Platypus Turtle Swordtail Horse

(Go on to the next page)



9. Study the diagram below carefully.

10.

/ Larva \

Pupa
K Aduit «@—’/

" Egg

Which of the following animals go through the life cycle as shown above?

90 % X®

(1)
@)
)
4)

Mosquito”
Cockroach
Grasshopper
Mealworm beetle

A only

B and C cnly
A and D only
B and D only

The diagram below shows the life cycle of a butterily.

Pupa

\.9

/

At which stage, A, B, C or D, does the butterfly cause harm fo the plants?

(1)
(2)
(3)
(4)

A
B
C
D

(Go on to the next page)



1. Study the diagram below carefully,

{
Nymph_
THD
Egg case

frog cockroach

Which of the following similarities between the life cycles of the two animals
shown above are correct?

The young hatch from eggs.

The young look like the adult,

There are three stages in their life cycles.
The female adult lays many eggs at one time.

Cowr

(1) Aand B only
(2) CandDonly
(3) A,BandConly
{(4) A, CandD only

(Go on to the next page)



12.

g

Nadia did a study on two animals, P and Q, and drew up a checklist.

What Nadia observed Animal P | Animal Q
Eggs are laid in water No Yes
There are 3 stages in the life cycle Yes No
It has 3 pairs of legs Yes ‘Yes
What are animals P and Q7
Animal P Animal Q
M 4 Moth Ladybird
(2) Chicken Butterfly
Grasshopper Mosquito
(4) Mealworm beetle Dragonfly

The diagram below shows the different stages of the growth of a seed.

Which one of the following options shows the correct order of growth?

(1) B,AC,D
2) B,AD,C
(3) B,D,C. A
4) B,D,A C

-

(Go on to the next page)



Study the set up below carefully and answer questions 14 and 15.

cork board
damp cotton wool
wire mesh seed
glass jar + light enters her
black paper
moist soi

1 1

14.  What will happen to the roots when the seed begins to germinate?
They will grow

(1) in all directions

(2) towards the light

(3) towards the moist soil
(4) towards the cork board

15. W was observed that the young plant grew towards the light. Why did this
happen?

(1) The young plant needed light to make food.

(2)  Light aliowed the young plant to grow faster.

(3} The young plant needed nutrients for growth.

(4) Light would provide heat for the young piant to grow healthity.

(Go on to the next page)
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17.

11

The picture below shows a bumper car.

Material X

Which of the following options correctly describe the property and reason for
using Materjal X7

(1}

(2)

(3)

(4)

Property Reason
Stiff Material does not allow light to pass through
Strong Car will not be damaged easily
Flexible Material will not break easily
Waterproof Car will be able to move faster

Some things have been classified into three groups as shown below.

vase
scarf mirror toothpick
handkerchief beer bottle photo frame

Which one of the following things has been grouped,wi‘onglg?

(1) nail
(2) mirror

(3) toothpick
(4) handkerchief

(Go on to the next page)




18.  Some objects have been classified into two groups as shown below.

marble wooden ruler

eraser ping pong ball

What can the headings for Groups X and Y be?

X

(1)
(2)- Waterproof Absorbent
(3) Sink in water Float in water

{4} | Allows most light to pass through | Does not allow light to pass through

- 19: Omar wants to pack his footwear for a holiday at the beach. Based on the
information below, which is the most suitabje footwear for the beach?

Footwear Flexible Waterproof Breaks easily
w No Yes No
X Yes No Yes
Y No No Yes
Z Yes Yes No
(1 w
2 X
3y Y
@) Z

(Go on to the next page)
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21.

13

Rafael wanted to test the strength of objects A, B and C made of different
materials by hitting them with a hammer. He concluded that object B is the

strongest because it did not break. His teacher told him that his corniclusion was

incorréct because he did not conduct a fair experiment.

&

P -ﬂw

A

30 cm

NG LT

What should Rafael do to ensure that the experiment was fair?

A:
B:
C:
D

(1)
(2)
(3)
(4)

All three objects should be of the same size:

Object A, B and C should be of the same material.

The same hammer must be used for all the objects.

The distance between the hammer and the objects must be equal:

Aonly

B and C only

A, B and C only
A, C and D only

Which of the following object(s) will be attracted to magnets?

Gold ring
Copper piate
Steel thumbtack
Aluminium frame

C only

B and C only
A, B and C only
A,B,CandD

(Go on to the next page)
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23.

14

Rohei uses a hammer fo hit a bar magnet ' many times.

What will happen to the bar magnet?

(1) Nothing will happen.

(2)  The hammer will be magnetised.

{(3)  The bar magnet will become stronger.
(4) The bar magnet will lose its magnetism.

Which one of the following items is classified wrongly?

o1t é{é’ ;Ui

Electric fan Cooking pot

Hair dryer Washing machine

(1) Hair dryer

{2) Electric fan

(3) Cooking pot

(4) Vvashing machine

(Go on to the next page)
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24, Steve tried to magnetise four iron rods, A, B, C and D, using the stroking method as
shown below. o

6 R;)d c ) () Rod D

Which rod(s) will become temporary magnet(s)?

(1) B only

(2) AandD only
(3) A,BandDonly
(4 AB CandD

(Go on to the next page)



25.  Study the diagram below.

What will happen when m
cylinder?

16

Magnet X

Plastic cyiinder

Magnet Y

M

Plastic cylinder
Magnet X

Magnet Y

(2)

Plajstic cylinder

Magnet X

Magnet Y

agnet X is slowly lowered into the plastic

Magnet X

Plastic cylinder
 gap

Magnet Y

Magnet X

MagnetY

Piastic cylinder

(Go on to the next page)
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Anthony had three magnets, A, B and C, as shown in the diagram below.

i

3
)
>
S
3
Y
%
g
¥
e
]
X

Magnet A Magnet B Magnet C

He placed each magnet at the same distance from the same amount of paper
clips. He then slowly moved the magnet nearer to the paperclips and
measured the distance at which the magnet attracted the paper clips and the
number of paper clips attracted.

The table below shows his results.

M ¢ Dist:nczbetweerlr_ Number of paperclips
agne magnet and paperclips attracted
{cm)
A 7 12
B 2 5
C 4 12

Which of the following statements is correct?

(1) Magnet C is the weakest magnet.

(2)  Magnet A is the strongest magnet.

(3) Magnet A is as sfrong as Magnet C.
4 Magnet B is a stronger magnet than A.

(Go on to the next page)
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"28.

~ 18

The following diagram shows how three bars X, Y and Z interact with one
another.

X +——- repel — Y
\'2 — attract «—— zZ
7 +—— repe]l — » X

Based on your observation, which of the following can you conclude?

A
B:
C:

(N
@)
(3)
(4)

X is a magnef
Y is a magnet
Zis a magnet

A and B only
A and C only
B and C only
A, Band C only

Which property of a magnet enabies a compass to work?

(1)
(2)
{3)
(4)

A magnet is strongest at its poles.

A magnet attracts magnetic materials.

A magnetic material can be made into a magnet.

A freely turning magnet comes to rest in a North-South direction.

{Go on to the next page)



29. Five bar magnets with their ends marked A to J can be arranged as shown

below. -
A B | J‘|
‘C H
D G
E F

Which one of the following diagrams shows a possible arrangement of two of
the magnets?

(1) (2)

A H
B G
! J D C
(3) (4)
C D | B A
J F
| E

(Go on to the next page)
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30.  Two bar magnets, suspended by strings, are tied to a wooden rod. A thin

sheet made of material A is placed between the two%; The two bar
magnets moved towards each other as shown below, 93

L Q D }\ wooden rod

string

s 1w

/

cobalt bar —— Material A

What is material A?

(1) iron
(2)  Steel
3) Glass
(4) Nickel

End of Booklet A
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For questions 31 to 40; write your answers in the spaces provided. The number of
marks available is shown in brackets [ Jatthe end of each qQuestion or part question.

[30 marks]

31.

Taufig set up an aquarium with & guppies. The graph below records how the
number of guppies changed over time.

(a)

(b)

(c)

Month -

1st 2nd 3rd 481 sth
Number of 6 12 2 8 14
guppies

What happened to the number of guppies from 1% month to 2™ month?

(1]

Explain yrour answer in (a). [1]

Taufig’s younger brother added 'some soap by mistake into the
aquarium at the end of 2" month. Based on the above results, what
could be the number of guppies that are still alive in the aquarium at the
end of the 3" month. Explain why. [1]

(Go on to the next page)



32.

Look at the six animals below.

(@)

(b)

()

(D) Grasshopper

(B) Termite

(E) Millipede

(F) Spider

Which two animals are not insects? Write the letters in the boxes

below. [n
Animals and

Give a reason for your answer in (a). f1]
Why do insects have a hard outer covering? [N

{Go on to the next page)
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33.  Amriwanted to eat a piece of bread but found some greenish-grey spots on it.

(@  What were the greenish-grey spdts found on Amri's bread?

(1]

(b)  Why are these greenish-grey spots in (a) harmful to us? 1]

(c)  Give an example of a useful micro-organism.

{1

(Go on to the next page)
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34. (@) Match the following adult animals to their young.

Butterfly ¢ s Nymph
Grasshopper » » Wriggler
Mosquito e » Caterpillar

-

(b)  Study the given animals below.

(1]

(1  Which group of animal does it belong to?

i

(i) Describe one characteristic in which the adult is different from

the young. (Do not compare the size, shape and colour). [1

(Go on to the next page)



35.  The diagram below shows 3 seedling.

(@)  Whatis the part labelled ‘A'? [1]

(b}  How is part A useful to the seedling at this stage of the plant growtﬁ?

[

(¢} What will happen to part A as the seedling grows bigger? [1]

{Go on to the next page)



36.

Jing Wen grouped some objects in the following way.

Objects
[
} |
Not flexible Flexible
metal pole { : }
ceramic bowl Does not tear Tears easily
rubber mat tissue paper
paper envelope aluminium foil

(a)  Which one of the above objects has Jing Wen grouped wrongly?
Give a reason for your answer. {1

(b)  Jing Wen decided to classify all the objects into Groups X and Y as shown

below.
Objects
I
] ]

Group X Group Y
metal pole tissue paper
rubber mat paper envelope

ceramic bowl
aluminium foil

Which property of material is used to classify the objects into Group X

and Group Y7 [2]
Group X :
Group Y :

3

(Go on to the next page)



37.  The diagram below shows a motorcycle.

spokes of the
wheel

Filt in the blanks below under (2) and (b} with a suitable material that can be
used to make each of the parts indicated above. State a property under (c)
of the material that makes it suitable for that part. i3]

[ Properys
lamp {(a) Allows light to pass through it
seat () Flexibie and waterproof
spokes | Metal (c)

{Go on to the next page)



38 Johan made two electromagnets as shown in the diagrams below.

2f) turns of wire

30 turns of wire

He compared the strength of the two electromagnets by observing the
number of pins attracted to each electromagnet. The results are

shown below.

Number of pins atiracted

Iron nail A with 20 turns of wire

17

ron nail B with 30 turns of wire

24

(a) What happens to the strength of the electromagnet when more

turns of wire were used?

1]

(b)  Based on the results, give a reason for your answer in (a)? [1]

(c)  Suggest another way that would make the electromagnet

attract more pins?

(1]

Pz

(Go on to the next page)




38.  Ainah hung 4 different magnets, P, Q, R and S from the ceiling to test the
strength of the magnets as shown below.

container

\\ L2 o

(@)  Which two magnets have the same magnetic strength? Explain why. [2]

(b}  Ainah concluded that Magnet Q is the strongest. Do you agree with
Ainah? Give a reason for your answer..

(11

{Go on to the next page)




Sandy used the ‘stroke’ method to make an iron rod into a temporary
magnet. She recorded her observations in the table below.

Number of strokes 20 40 60
Number of paper clips attracted to 3 8 12
the magnet

(a) Based on the results, what could Sandy conclude about the number of
strokes and the strength of the magnet? : i1

(b) Name another material that the rod can be made of, in order to be
made into a magnet. (1]

(c) Suggest another method Sandy can use to magnetise the iron rod.  [1]

End of Booklet B
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(Q31a. The number increased.

Q31b. The guppies reproduced.

Q31C. There could be two guppies. They need clean water to survive.
Q32a. Animals E and F

Q32b. Animals E and F have more than six legs unlike insects, who only have six legs.
Q32c. The hard outer coverings is to protect them.

Q33a. The greenish - grey spots were bread mould.

Q33b. Inside, there is harmful bacteria that can make us sick.

Q33c. Yeast.

Q34a. Butterfly — Caterpillar

Q34a. Grasshopper — Nymph

Q34a. Mosguito — Wriggler

Q34b. (i) The amphibian group.
(@34B. (ii) The young has a tail but the adult tadpoles not.

Q35a. The seed leaf.

Q35b. It provides food for the seed until the seedling can make its own food.
Q35c. Part A will gradually drop off as the seedling can already make its won food.
(336a. Paper envelope as paper tears easily.

Q36b. Group X: Waterproof Group Y : Non — waterproof

Q37a.Glass  b. Plastic  c. Stiff
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Q38a. The magnetic strength will increase.
Q38b. There are more pins attracted by the electromagnet.
Q38c. He could add more batteries,

Q39a. P and R because they were hung at the same length and attracted the same
number of thumbtacks.

Q39b. No, because the test was unfair as all the magnets were hung at different
heights.

Q40a. The more times she stroked the iron rod, the stronger the iron rod’s magnetic
strength.

~ Q40b. Steel

Q40c. He could use the induction method.
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